Mk 366 Exam & sol’s and grading kc_/z

[ HOVV'O;éI/IéﬁVis So/mlx'om ! r2+t/r+ ‘—7/;0

(r+2)=0 =2,

X 2x

/‘gfcle— +C27(e— “— 3/37%

P&wﬂtvcm/mr so/l/l = /[ Cos3X + BSmEX

yP’:-M $in 3x + 2B (os3x

%” -9 /| (o5 3x — 9B Sin 3x

F(th into ODE -
(’@A (o5 3x =9 B Sin Zx) +4 <~3/’ Sin SX+ 3B C053X>
S (A s 3x 4 RS

= L, 5/ + 12 B] Cos 5% + [4;74-523} Swéx = Sindx
—N\— — VT
=0 — 7

-5 | X A\ D
Ll -5 <P> :<‘)
w1 5] 2
i 5 %] 16

A -



o ad (i ‘,’]_ 5
a{ﬂf, ES l?]
éo —2 (ps3x — 5 Sindx & g77{5

Ny)"/ 169 B

oww/[ 7LW, 24merm( ép/mZ?Wt /S

y; ((efjxqt (, e (/%2 (055X — //i% Sin %’(> 4/’??75
’(,f, (jaw sol " AW‘”/) -+ /7?
@? g 9( *ch % - /ﬁ[y ] i’ﬁ’i/

/2f-o7c?(/fZCX M[’( W

<
C;~M 9(7 y
M&X 37<:]
7//; Qe + 66X

_ 2 (%9-?7’>+@(2/7’7/” %”ﬁ%

M?* éy;@@’/ﬁ'ﬂ%




,) IF {c,xi b XD 20, theu the derumue

F/Mj I X:/ < + C3 =0
2C + BCB =
(\(0)(5 / / ¢ N
9 _
W j;w\/\q 2;1 B ]( 2 > = O
// 1) @ \_/\f\_/

C= U and c,70 is the Wl// fass/é/e cholce
50 )(2 andl 9(3 afe /Mémr/\/ ?m//izm/cn'f

5 Fo’/t/ﬂl p f@r cor;/ec‘/ answer

C) W[xixzj: AT [2: ;((2]

= ’SX%A Ax

1 = )(9&/ 3/7%5

,XV \/W\]s/wes mL X=0 Ths oAoes ﬁajL Joolate Abé}ff
— - o .
(€§(A(+ Lecause fhe opc s ”~;(4’y/#;<:?’0)

vl y”»r ?(x)/)/«k &(7()%//0 where ?W%Q

oV € §7V\?u{ar m‘/' 7(:0, Ee/; reSUz/7L re/7mr<5



Pmmo/l A Ao be COMZ[M(AUMS on the wterva |

W)/Zr coms?%frm[?an </’2}o7‘g

3. ﬂl> gm’f?wé (7/ 7,1 = O
o X<0: (9()¢c(>()

Diwide la\/ ;(g Qr Set 9(:,/> 4, 76%

pu—

2 3
For X202 ¢ x" + ¢, x =0

Divide Ly > (or st x=1) jﬂL

({ 4+ C): O
The OM/\/ sa/h fo ? €T ¢G=0
C/#CJ:O
s C:()} C)_:()) 50 9114/(7
//Mﬂr\/ tm%e?w/fen% /)FJLS

LY For x<o | Wiy 4] - m[;i :gfij, o
Pr x20, W:M@Xz 3X=]EO



éO \/\/EO on ie 5 7)7@

1. - X'
9/9 x
//: r(fﬂxyll
ij in OD< - 7(2 Er(v—ﬂxr'j/ Ex[rxf’jqb L/XV\
wonT

3 Lv(\r/l\fér H] <0

- <Y2—L1W+Lf>?(r

- <r,_ o) ‘ - =
\—/\/\)—_ﬁ /0 UVL/7/ }’p V\';Q
5F+$

é"’mm/(&tr% qQ]][Wl 010 L)(?Wlﬂ enNd
/ ous 677‘01 =

(! -3 /
/y +\</;L>7 +<%2>7 = O
P(X) ¢
¢
/jlz U\/j{ Where — y = 7/1 @lX)M



— 2
(x*) ¢
o QSL“X //_etw?
T X - X!
X
/L
Uu = X

So  u= S?L I = Lin x
o/l we ja’{' 711 M7( = (LMX>?(2</5ffs

Néx‘[' /;P;Ml/;/‘ *Mﬁ/ﬂa V\/é@fd

P F
e T and m;:— 7
I V\/ W

( 3 , Y _
wLevc 7 +<X>y +<?<2>7 [ x
ﬂCVOW\ éﬁLam/{M% jQ;W pm%

2

2
X X lh % 3
W= A LX 2x L + J =X



X J
U= - g Q:bvﬁ()i ;(_/4(> Mgrg(LmXB(;((/é()
Y . AV 2
e

Greneral colution :

y: c,xqﬂt % Lax + ij(ux)

;Z)’ILS
4 2 2 .
S, r A+ = (rH) =
Qoots ¢ vr=1,0,-L,~¢

Genernl solution To ﬂm’# 07/4«/:0 s

/J; C( (057( + Clg'mx + (3?((05X+ CL{L?(GM)(

/0 /ovLs



Correct WQ/WJ‘_/‘ ot 7{7 .
/j? - 9(&[<A,X+740> Cos X T (E/’(”Eo> gh?(j
pe

~ 2 R §>:21‘:
[ -9 X + [0 &

Jior (A-rT) = MEH / ]; C e+ 3

_2-r

= () r+=0 =1 -3

For r'—l . [134"3 | / o
| —2-(-1) d
— | | v,
— | / v
> [ — | /0]
0 v

’q; <I s an e;amx/a’/or —;(/: (l/>e't¢/g7a7ls




For r=-5 + ~2-(-3) /

;|
]
Tl o o]

- [\ 3t
&{, < \ an é eyu/ad%)r 9(2; (__()e ﬂLs

———

erld\”\/} g&’/’ ’?Z(,f (,;C:)t US 7 meﬂ%a/{ J‘p um/ld (0610//];
= AX +(5)e"

= 2¢

Qﬁgt “Abe + /o\ -~
~ 2bi 4 b, 2k
<»/o> /A /o QE < , ’QL,2>_’ (:zl,_)
*5> -4 | L’/B
(-/0 -y (%

mewrls rn /&,’

( -2-(-3)




- At [k{ FBJ:J_S_:

’ M[( ’J /5

< ; > £° §f7Ls

OMA +he y&mrm( solution s

(D7 a(h)& + ()

H

or _t —3t >t

5



